Code No. 3209

CLASS : 11th (Eleventh) Series : 11/Annual Exam.-2025

Roll No. ]

AT

ACCOUNTANCY
[ R @ Sl e )
[ Hindi and English Medium ]
(Only for Fresh/School Candidates)
57 : 3 g7 | [ g% : 60

Time allowed : 3 hours | [ Maximum Marks : 60

o g T 7T 3 F5 g 99709 § JRa g% 16 7 497 30 &

Please make sure that the printed pages in this question paper are 16 in number
and it contains 30 questions.
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The Code No. on the top of the question paper should be written by the. candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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~ Don'’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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O) &7 7799 & 557 30 797 P & ot v oAt & ww w7 3 o TR B 0%
Y BT FY

(W) TGS 715 7% Tgine 997 & e @ g9 3 Fo 1 oF BT &
(iii) 97 T&7 16 7 21 T% T TGTHT 707 & FAF FoT 2 F F &

(i) 7 T 22 27 7% qgowT 497 & T0F W7 3 5F T &

(v) I GET 28, 29 37 30 G Fh7 797 & TPH WIS 9F T B

General Instructions :

(i) This question paper comprises of 30 questions in the question paper. All the
questions are compulsory. Attempt all parts of a question together.

(i)  Question Nos. 1 to 15 are objective type questions carrying 1 mark each.

(i) Question Nos. 16 to 21 are very short answer type questions carrying 2
marks each,

(iv)] Question Nos. 22 to 27 are short answer type questions carrying 3 marks
each.

(v} Question Nos. 28, 29 and 30 are long answer type questions, carrying 5

marks ecch.
fordiia i & ot oRome & 2 ’
| What is the end product of financial accounting ?
q% AT RTed &H A SR ..., T Bl 1
A person to whom money is owed by the firm is called ............. ‘
W R A Em e, ST AR IR IMB @ FEOT ¥
e e B | 1

Everything a firm owns, it also owns to somebody. This co-incidence is explained
by the ......scomimianie concept.

e Rygrt & STTAR e 9t Gaw organ Rdwaelt # Rafy Rewor & meRtr =@ fear omar
B? | 1
Under which principle the caliber or quality of the management is not discloged
in the Balance Sheet ?

3209



5.

6.

3209

' | (3) - 3209
g freor F=e o € 1

(A) a8 & o A (B) e ad & ofd |

(C) & Ramh @ - (D) foim ad & o #

Final accounts are prepared :

(A) At the end of calendar year (B) At the end of assessment year

(C) On every Diwali (D) At the end of accounting year
AN (A) :  F@IET A FH GCATT B 1
T (R): T8 A @ Prfa 8% & R Rl S @m S e

et Rereq g |

(A) R (A) R o (R) A1 wE ¥ ol B (R), ifra (A) B TE e B

(B) FRERF (A) A IR (R) AT wE ¥, ARG FN (R), AW (A) B wE @A T

(€) o (A) T8 B, Afdw FOT (R) T R

(D) WA (A) Tad &, AT FR (R) FE 2

Asz;ertion (A) : Accounting is considered the language of business.

Reason (R): It provides financial information to stakeholders for decision
making.

Choose the correct option :

(A) Both Assertion {A) and Reason (R) are correct and Reason (R]'is the correct

explanation of Assertion (A).

(B) 'Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is not correct.
(D) Assertion (A) is not correct, but Reason (R) is correct.

P.Ti'O®.
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¥ wuE REwr g9 A b

(A) TR & (B) 4% zm
(C) wmmNRS a1 (D) 3R EW
A Bank Reconciliation statement is prepared by :
(A) Creditors (B) Bank

(C) Accountholder in a Bank (D) Debtors

ST (A) : TN AR TR B R S B e vk et om & 9@ B 1
FT(R): i SRR H 9w @t B g a0 B Ria B o B

el Rreq g |

(A) SR (A) SR O (R) T T8 ¥ ofw e (R), i (A) B @ B

(B) &R (A) IR FRT (R) A W& &, AT @ (R), T (A) B TE A TE B
(C) P (A) T B, AR ST (R) 7ot B

(D) R (A) Tod B, AT T (R) 981 B

Assertion (A) : Journal entries are passed to record every business transaction.
Reason (R):  Journal entries are used to classify the accounts.

Choose the correct option :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is not correct.

(D) Assertion {A) is not correct, but Reason (R) is correct.
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T #1558 98 g §, @ I@ P wd @ amagawar e ol “
(A) (B) w4 JE

(C) fwR & (D) wrEd ¥ T ol &% @

When a firm maintains a cash book, it nced not maintain :

{A) Journal Proper (B) Purchase Book

(C) Sales Book | (D) Bank and Cash A/c in the ledger
SR (A): AU arEd et Bt e sl ghiea w 1
T (R): @9 & aweier 7 ghiea Fvar ¢ amed gl @ g &

(A) W(A)aﬂ?zﬁr{wm)ﬁaﬁ%aﬂwm(m,aﬁmwaﬁaﬁm%u
(B) aﬁwm)aﬁrwlmﬁuﬁ%aﬁﬁwtm,aqﬁmwm)aaaﬁtmqﬁ%t
(C) o (A) §8 8, AT PR (R) T

(D) SR (A) T 8, W FROT (R) WO &

Assertion(A): A trial balance ensures the arithmetic accuracy of the ledger
accounts.

Reason (R): The agreement of a trial balance guarantees that the books of
accounts are free from errors.
Choose the correct option :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the corréct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R} is not the
correct explanation of Assertion (A). .

(C) Assertion (A) is correct, but Reason (R) is not correct.

(D) Assertion (A) is not correct, but Reason (R)-is correct.

Liabilities = ....covvivininans - capital.

av-gify @ R e €7 | 1
What is profit and loss account ?
T 0:
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(6)
T AR ¥ At w5 @i A e © o

(A) T A PRE A G (B) T ¥ PEH 9 B K
(C) T ¥ YH H A T FH W (D) U4 & § 31 748
In cash basis, expenses are recorded :

(A) When paid in cash (B) When not paid in cash

(C) When paid or not paid in cash (D) None of the above

Frafafes 8 & SF-a1 ammiss d9-39 787 % ?

(A) FFEE % @ 2 10,000 F FHER GlE

(B) wFHHAME ® A9 Rar 5,000

(©) A ol 3% @ & o A A W g 20,000

(D) ZEEE & @d § d9 a2 B & 22,000

Which of the following is not a business transaction ?

(A) Bought furniture of ¥ 10,000 for business

(B) Paid for salaries ol employees T 5,000

(C) Paid sons fees [rom her personal Bank Account ¥ 20,000

(D) Paid sons fees [rom Business Account T 2,000

I st fRerar 72,000 &, @ @urioE wffte a
(A) Sfae amw-si @ I wige FRmar @

(B) e frrr @ o #fee srguita Ryuar @
(D) T A Bg T

If the rent received in advance ¥ 2,000. The adjustment entry will be :

(A) Debit profit and loss account and credit rent account
(B) Debit rent account and credit rent received in advance account

(C) Debit rent received in advance account and credit rent account

(D)} None of these

3209
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16. GEAEE B At gRfe # s 7 owe g 7

Why is the ledger called the book of final entry ?

17. mmﬁ%ﬂé#a&wml

Give any twe objectives of preparing trial balance.

18. frmfefaa 9t & o AT

From the following balances calculate the amount of

(@) o % a9 fawa fpg QA1 @ P
Cost of goads sold 'during the year
(b) U MY
Gross profit
s wih
Opening Stock

JYX g )
Credit Purchases

JFq w4
Cash Purchases

U &

Credit Sales
T% [
Cash Sales

R

Wages

ERE]

Salaries

siftm wfe

Closing Stock
3209

3209

4
25,000

7,50,000
3,00,000
12,00,(;00
4,00,000
1,00,000
1,40,000

30,000

P.T.O.
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(8) _
frsa o 50,000 .

Sales Return
G gt 10,000
Purchase Return

L

OR
W B T 2022-23 ¥ T 17,00,000 TR @ AP T oo zad RoEee o
¥ 1,50,000 SR R-yae @4 ¥ 3,75,000 N G BT AT @ @ A Mo by

Operating profit earned by a firm in 2022-23 was ¥ 17,00,000. Its non-operating
incomes were ¥ 1,50,000 and non-operating expenses were T 3,75,000. Calculate
the amount of net profit earned by the firm.

AQFA B THA SN AT IUEH R B FE &7 T iy 2

Give any four points of distinction between cash basis and accrual basis of
accounting.

1 Lo 1551 [ R 3 MR e e A B 1 s 2 2

Explain the following terms with examples :
M @

Expenditure
(i) e

Discount

OR
(i) =
Gain
(i) ST

Voucher
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1. R ACET B IFGEHA P & ? 5

Who are the users ol ﬁnaﬁcial accounting ?

2. Afed GraX eew, giam & Frafifed 9939 § CGST @ 6% @41 SGST @ 6% WA
RACERIELICE A 3
2023 |
78 1 A AT B1ed, Sfedrn P IUR AR dw

150 FRFr @ T 1,800 Afy Feft it & &
36 ¥9 @ ¥ 5,000 Ui AT F 5T Y
w2l 20%

%15 R GER SIS, STYAE W e
10 FEHIRA @ T 11,000 9f Sremrd
5@%@3@?18,000;[%@%@3
AEERE FrR 15%

w20  wHd Gt e, 7 Rl B A A
100 FRI @ ¥ 2,000 ufer Fei
5% W

€25  HAGEE BT B TEE o440
50 FE @ T 1,900 sy g

Prepare a Sales Book from the following transactions of Mohit Furniture House,
Ludhiana assuming CGST @ 6% and SGST @ 6% :

2023

May 1  Sold goods to Aman Furniture House, Patiala (on credit)
150 chairs @ ¥ 1,800 each
36 tables @ ¥ 5,000 each

Discount 20%
3209 P.T.O,



(10) 3209

May 15  Sold goods to Vishal Furniture House, Amritsar
10 Almirahs (@ ¥ 11,000 cacly
S Sola sets @ ¥ 18,000 each
Trade discount 15%
May 20 Sold goods to Prakash Furniture House, New Delhi
| 100 chairs @ ¥ 2,000 each
Less 5%
May 25 Sold to Moonlight Furniture for cash
50 chairs @ ¥ 1,900 each

23. friefen sigfedt @ waltes s e 3
Rectify the following errors :
() TF Y MR F B T 720,000 B 7R 7 s 77 @ 4w Rar T

Machinery purchased on credit from Raman ¥ 20,000 was recorded through
purchase book.

(i) w7 B AT | 2T T 1,400 B 75 @@ F e gy § fermr

Repairs on machinery ¥ 1,400 was debited to machinery A/c.

(il) 78I § T 1,000 % W AGH F erEA F AGE FE F W T o™ ewits g2y
% @d P T Hree o

Goods returned [rom Mahesh ¥ 1,000 were recorded through purchase
returns book, however, Mahesh's account was correctly credited,

24, %% a8 & AN 9 99 T 7,800 B AT T 7 THGE H TN FN W A Faeem
q T - 3
The cash book shows a Bank Balance of ¥ 7,800. On comparing the Cash Book
with Pass Book the following discrepancies were noted :

(a) %aﬁzﬁﬁmmw,ﬁﬂﬂ%ﬂﬂﬁﬁ 3,000

Cheques deposited into bank, but not credited

3209
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(b) FrifE 3% f o o g & fae e T e T

1,500
Cheque issued but not yet presented for payment

) ¥ & dR A FF@ & PEe

2,000
Insurance premium paid by the Bank
(d) 9% T 9% = SRR 400
Bank interest credit by the Bank
£ & 5 100
Bank charges
() TES T 9% § €Y Fo HC T 4,000
Directly deposited by a customer
25. Frfaied d9-39 & MR O A@ie G A B 3
Show the accounting equation on the basis of the following transactions :
() STEEE i YEAT B AHT A 5,00,000
- o 4 1,00,000
Started business with cash
goods
(i) 7FE W G W 2,00,000
Purchﬁsed building for cash
(iii) e & A @O S0
Purchased goods from Himani
(iv) @ Topea & A 3,000
Paid Insurance Premium
(v) o T 5,000

Rent outstanding

3209 P.T.O.



26.

27.

3209
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e oF-27 1 Ao sRfedt difm 3
Journalise the following transactions :
4
() g ¥ T @l 27,000
Goods purchased from Sudhir
(i) ¥ F T FQ 16,000

Deposited into Bank

(iii) R FAT F fow A% P 5,000

Draw cash for personal use

_qYqar
OR
() WY ITET F R A R 2,000
Goods purchased for household use .
(i) sHEn FEar 4,000
Rent outstanding
(iil) ST BT A T g 5,000

Goods destroyed by fire
wmm@haﬁﬁﬂﬁﬁ‘ﬁwﬁaaﬁwmaﬁmaﬁqumm
H G HL 3
Explain the concept-based on the premises ‘Do not anticipate profits but provide
for all losses'.

Fqar
OR

T WY RN F ¥ 7 AN 0 v o ¥ R R o ad @ 5w uwd @ e or
af & TaT g |/ AN B PoT & qwr & ¢

What is money measurement concept ? Which one factor can make it difficult to
compare the monetary values of one year with the monetary values of another
year ?
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1o Rie ¥ 01 o™, 2015 @ ¢ 1,00,000 # msfiw @&l 01 @, 2016 H FA
22,50,000 # @rE & wF T 7l @ddh 01 o, 2015 W FA A T’ qAT A 01
FFeaT, 2019 @ ¥ 25,000 T ¥ Ran TR 15% A A W Ve Ay & e @ @
2 af gaRy 31 A, 2020 F R AEh @R @ WA R w3 R 5

Garima Ltd. purchased a machinery on l1st April, 2015 for ¥ 1,00,000. On
1st July, 2016 another Machine costing ¥ 2,50,000 was purchased. The machine
purchased on 1st April, 2015 was =old for ¥ 25,000 on 1st October, 2019. The
company charges depreciation @ 15% p.a. on straight line method. Prepare
machinery account and machinery disposal account for the year ended

31st March, 2020.
Yqr

OR
g @ T W@ PR A a @ s

Explain determinants of amount of depreciation.

Yo s & Preififaa o9-39 & oW, 2024 3t %% & A Affelea S 5
.
qE 1 Uhg § Faad S e 50,000
g 3 ICICI %% # @rar @ie 30,000
G 5 AER HI G 10,000
¥ 10 THE GAH F FACE ST T 5,000'
qeE 15 e B T H IR {pa HT 9% o B 2,000
s 18 TG fawd 8,000
A% 20 AeT F AF 4F F T BN
mgzaﬁmgﬁémwﬁw . 500
I 25 RREE A 3 faw I P 2,000
IS 30 ¥ F BRI B PR B | 1,000
P.T.O.
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(14)
Enter the following transactions in double

column cash book of M/s Anamika}
for July, 2024 :

4

July 1 Commenced Business with cash 50,000
July 3  Opened Bank Account with ICICI 30,000
July 5 Purchased goods flor cash 10,000
July 10 Purchﬁsed office equipment for cash 5,000
July 15 Sold goods on credit to Rohan and received a cheque 2,000
July 18 Cash sales 8,000
July 20 Rohan's chéuqe deposited into Bank
July 22 Paid cartage by cheque 500
July 25 Cash withdrawn for pérsonal use 2,000
July 30 Paid rent by cheélue 1,000

Al

OR

Ube ad & o9 T TR ¥ 7 3ad R T @ ool @
What is Cash Book ? Explain the types of Cash Book.

T St wa At & 7 iR mR e §G $ SO @l STy B § 7 5
What are adjﬁsting entries ? Why are they necessary for preparing final
accounts ? https://www.haryanaboard.com

HYG[

OR

Preifeiea faeer & Fo Tl $ed & fw 31 A, 2024 F ww A AW A W =R
o @ U B @ a3 ol @ aeve AR iRt

Prepare Trading and profit and loss account of M/S Gavish Traders for the year
dpa balance sheet as at 31st March, 2024 from the following figures taken

an

from their Trial Balance.

3209
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Dr. Balances 4 Cr. Balances C4
gRISE el 35,000 | fezpa 2,50,000
Opening Stock Sales

| 1,25,000 | %7 ara@t 6,000
Purchase Purchase Return

Rera aroit 25,000 | F&R 10,000
Sales Return Creditors

H =4 600 | 37 fagm 20,000
Postage Bills Payable -
EGE 12,300 | 1,000
Salary Discount _

LR 3,000 | ®fever ot & e s 4,500 |
Wages Provisions for Bad debts

ftrar o &T 1,000 | Sref = 5,400
Rent & Rates Interest Received

ARET 7 gREe 500 | Eit 75,000
Packing & Transport Capital

I 400

General Expenses

L) 4,000

Insurance

EE iy 50,000

Debtors

B S 20,000

Cash in hand

I 40,000

Cash at bank

3209
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7=l 20,000
Machinery
e ol St 5,000
Lighting & Heating
! 3,500
Discount

S ESNEA 3,500
Bad Debts
fafram 23,100
Investment

3,71,900 3,71,900

3209

Adjustments :

() =T W 5% s T § T TR

Charge depreciation on machinery @ 5% p.a.

(i) e woEd 1,000 ¥

Wages prepaid T 1,000.
(iti) 9ifm ®fF 2 10,000 B
Closing Stock Z 10,000.

3209



